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1.  Due to unexpectedly high demand , Go Beyond Inc. is considering expanding its production capacity.  This new capacity will involve expanding current facilities using land which currently contains employee parking.  Land  to provide additional parking (to replace the parking spaces which will be lost) can be purchased for $125,000.  Expanding the production facilities would involve spending $350,000 immediately then $400,000 per month for the next 3 months.  During the expansion, the current production line would have to be shut down and sales of $30,000 per month would be lost.  However, production costs of $17,000 per month would also be saved during the shut down.  Four months from today, the expanded facility will open and sales would increase from the current $30,000 per month to $68,000 per month.  Production costs will increase from $17,000 per month to $32,000 per month.  Production from the expanded facility is expected to continue through 15 years from today.  If the required return on the project is 14.5% per year, should it be undertaken?


[image: image1.wmf](

)

(

)

01135

.

1

145

.

1

r

12

1

12

1

=

-

=


Costs

CF0 = -125,000 - 350,000 = -475,000

CF1-3 = -400,000 - (30,000 - 17,000) = -413,000
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Benefits

CF4mo - 15 yrs = (68,000 - 30,000) - (32,000 - 17,000) = 23,000


[image: image3.wmf](

)

27

.

787

,

751

,

1

01135

.

01135

.

1

1

1

000

,

23

V

3

12

15

3

=

÷

÷

÷

÷

÷

ø

ö

ç

ç

ç

ç

ç

è

æ

÷

ø

ö

ç

è

æ

-

=

-

´



[image: image4.wmf]70

.

479

,

693

,

1

01135

.

1

1

27

.

787

,

751

,

1

V

3

0

=

÷

ø

ö

ç

è

æ

=


NPV = 1,1693,479.70 - 1,686,403.50 = 7076.20

=> no since NPV < 0

2.  Suppose that congress eliminates the tax deductibility of interest paid by corporations.  Based on what we discussed in class, explain why the optimal amount of debt for corporations would not drop to zero.

Two benefits of debt still remain

1)  Issue costs for debt are lower than equity

=> lower fees from investment bankers

=> no announcement effect (as there is when issue stock)

=> debt may be preferred to equity as a funding source

2)  Debt resolves stockholder-bondholder conflict by:

=>  taking discretionary cash out of management's hands

=>  allowing concentration of ownership in management's hands

=>  keeps management's feet to the fire

=> firm with high free cash flow will still optimally have debt
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3.  Big Sam’s Burgers Inc. is planning on using surplus cash to repurchase 113,125 shares for  $15 each.  Big Joe’s stock currently sells for $8 per share.  Big Joe has 5 stockholders as follows:

Name
# of shares
Claire
500,000

Sam

250,000

Billy
100,000

Karen
50,000

Spot
5,000

Demonstrate how much better off Claire is if the firm repurchases the shares using transferable put rights rather than through a tender offer.  Assume that Claire exercises all of her puts.
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Tender Offer
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# of shares sold = 113,125(.29672) = 33,567

wealth = 33,567(15) + (500,000 - 33,567)(7) = 3,768,536

TPRs
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wealth = 62,500 (15) + (500,000 - 62,500)(7) = 4,000,000

difference = 4,000,000 - 3,768,536 = 231,464
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4.  You are considering selling 5 put contracts on Hewlett-Packard which expires 49 days from today.  You plan to close out your position by purchasing 5 identical puts 34 days from today.  The put you are considering selling has an exercise price of $95 compared to Hewlett-Packard’s current stock price of $100.50 per share.  You estimate that the standard deviation of returns on Hewlett-Packard’s stock over the next 49 days will be 42% and that the standard deviation of returns on a similar call will be 74% and on the put will be 69%.  Current T-bill returns (given as APRs with continuous compounding) are as follows:

Maturity (in days)
Rate
6
3.36

…
…

27
3.71

34
3.98

41
4.05

48
4.12

56
4.03

What is the least you should sell the 5 puts for today?
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=> 3.66 x 5 x 100 = 1830.29

5.  Sandbar Fishing Inc. has recently sold one of its fishing boats that has been sitting at the docks not being used.  Explain how this sale will impact Sandbar’s EVA over the next few years.

EVA will probably rise

1)  capital will fall if pay out the proceeds to stockholders or bondholders or invest the proceeds in marketable securities

2)  capital will rise if sell for more than book value and hold cash as part of operating cash

3)  capital will remain unchanged if sell for book value and hold as part of operating cash

Note:  1) is most likely since surplus cash  likely not held as a part of operating cash since the need to hold cash is probably unaffected by the sale.

4) NOPAT increases due to:

1)  decrease in depreciation

2)  decrease in other costs like storage and maintenance.
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6.  The returns on U.S. Treasury strips rises from 4.42% for a strip maturing 2 months from today to 6.43% for a strip maturing 20 years from today then falls to 6.05% for a strip maturing 30 years from today.  Explain how the inflation risk and expectations hypotheses differ in what this term structure implies about the market’s expectations about future changes in expected short-term interest rates.

Expectations hypothesis would suggest that short-term rates are expected to rise through 20 years from today then fall.

Reason:  long-term rates are simply a geometric average of short-term rates.

Inflation risk hypothesis suggests little about short-term rates except that expected to fall after 20 years.

Reason => long-term rates include a premium and this premium grows as extend maturity due to increasing uncertainty about real returns for longer horizons

=> increasing rates through year 20 may be due to this premium

=> decrease in rates after 20 years must be due to a decrease in short-term rates since the premium tends to make long-term rates > short-term rates.







_1052746005.unknown

_1052746683.unknown

_1052815497.unknown

_1052815551.unknown

_1052815752.unknown

_1052806001.unknown

_1052746457.unknown

_1052746618.unknown

_1052746379.unknown

_1052745758.unknown

_1052746003.unknown

_1052745614.unknown

